= b —
RS y = ax+ 2 9 T2} g 19
e, a9 HEL? -

@ ab>0 @ ab<0 ® ab=0 \

@ ab<0 ® ab>0

Ry



AR y = ax - b 9 TeE7F oot 22

E pr—

W, a,b o 57

@ a>0,b>0 @ a>0,b<0
® a<0,b<0 @ a<0,b>0

® a>0,b<0

yl

R



@ a>0,b>0

@ a<0,b<0

yl\
R
0] T
@ a>0,b<0 ® a<0,b>0
® a=0,b=0



4.

ohg Jefmel Fageta, A (2, -3) 2 A
e 9 AE Fetolet

yll

3----/
0/ iz
-3

/l




x| gho] Htako] thet y o] gre] MslaFe] Hlgo] —%C’li, (-3, 4)
€ A A4 ezl xdHlat ydH o] 527

® 2 @ 4 ® 6 @ 8 ® 10



TFe Fy = —dx+ 129 BASKIL A (1, - 4)8 Avks 24 9]
4] A5

2.0, 0) L. (1, —4) ©. (-1, 3)

2. (3 -2 B0

D 174 @ 274 @ 371 @ 47 ® 574



